SAl:

Hm:

=a

off 28kt
ez o SFRIITL (s Ls=4/dl
ezt - X et 5

ofl 2&ett 11,937,352 11,386,293 551,059
2 77,600 27,600 50,000

& 8,060,000 8,060,000 0

p 20,000 120,000 0

=S 3,679,752 3,178,693 501,059

HYBY UL BRIVEL(SEHSIA/HL 2L - OfE) 5,904,840 5,410,840 494,000
2 27,600 27,600 0

= 2,750,000 2,750,000 0

= 3,127,240 2,633,240 494,000

MY - AW Zet IS 3,805,080 3,755,080 50,000
= 27,600 27,600 0

= 2,750,000 2,750,000 0

= 1,027,480 977,480 50,000

LT QEUHSIANEE AEHLAS 50,000 0 50,000
403 XIS AH=01A 50,000 0 50,000

01 XIS EEE 50,000 0 50,000
OLAT LQEVUHAHI A& K4 50,000 0 50,000
gsoid seExs MAIK =4 2,058,280 1,614,280 444,000
2 S8 HEX 40,000 0 40,000
308 XX/ XSO ® 40,000 0 40,000

01 R SHANEES 40,000 0 40,000
ogzH&s ML X 40,000 0 40,000

S58 HISH WHLAL 800,000 500,000 300,000
308 XHXI EHHIS 01 & 800,000 500,000 300,000

01 RXSHPNEES 800,000 500,000 300,000
O=58 HISH MHLAY 800,000 500,000 300,000
SYsZ2 HE ¥ S20IY XY 50,000 0 50,000
308 XX/ RIS O ® 50,000 0 50,000

01 RXSHPNEED 50,000 0 50,000
CERLER EIE b 50,000 0 50,000

S BaE BRANRL 29 54,000 0 54,000
201 QB2 S| 24,000 0 24,000

01 AR 22/ 12,000 0 12,000
OBLE BEUARL 29 12,000 0 12,000

02 3zl 12,000 0 12,000
OBLE BEUARL 29 12,000 0 12,000

405 Xt St 30,000 0 30,000

01 LS BHSH| 30,000 0 30,000
OS4E BEANRL 2Y BB 7Y 30,000 0 30,000
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